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SET-I 

MATHEMATICS 

CLASS- IX 

lkekU; funsZ’k% 
General Instructions: 
1. lHkh iz’u vfuok;Z gS A  

All questions are compulsory 

2. bl iz’u~i= esa 40 iz’u gS vkSj izR;sd iz’u nks vadksa dk gS A  
This question paper consists of 40 questions and every question carries two marks. 

3. izR;sd iz’u ds pkj fodYi fn, x, gS ftuesa dsoy ,d mÙkj lgh gS A mÙkj i=d esa mi;qä xksys dks dkyk djds lgh 
mÙkj dks  bafxr dhft, A  
Four options are given for each question out of which only one answer is carrect. 

Choose the correct option and indicate it by blackening the appropriate cirele (.) in 

the answersheet. 

 
1. fuEufyf[kr esa dkSu vifjes; la[;k gS % 

Which of the following is an irrational  ? 
 (a) 0 (b) 1 (c) 2 (d) 2  

2. fuEufyf[kr esa dkSu ifjes; la[;k gS % 
Which of the following is rational   

 (a) 0 (b) 2  (c)  � (d) buesa ls dksbZ ugha 
  (None of these) 

3. 0.6  cjkcj gS % ( 0.6  is equal to  : 

 
(a) 

2

3
 

(b) 6 
(c) 

6

10
 

 

(d) 
3

5
 

4. 
 

1

264  dk eku gS A The Value of   
1

264   is -  

 (a) 2 (b) 4 (c) 6 (d) 8 

5. buesa ls dkSu cgqin ugha gS %  
Which one is not a polynomial 

 (a) 2 2 1x x+ +  
(b) 

2
y

y
+  

(c) 2 2y +  (d) 3 25 4 7x x x+ +

 

6. cgqin 3 25 4 7x x x+ +  dk ?kkr gS %  
The degree of polynomial  

3 25 4 7x x x+ +     is  

 (a) 1 (b) 2 (c) 3 (d) 4 

7. P(x) = x-5 ds ‘kwU;d gS %  
Zewer of  P(x) = x-5 is  

 (a) 5 (b) -5 (c)  1 (d) -1 

8.  (x+1) ls 33 1x x+ −  dks Hkkx nsus ij ‘ks”kQy izkIr gksxk%  
33 1x x+ −  is divided by x+1, remainder will be :  

 (a) 1 (b) 2           (c) 3           (d) 4  
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9. 2 22x xy y+ + =  

 (a) ( )
2

x y+  (b) ( )
2

x y−  (c) ( ) ( )x y x y+ −  (d) 2 2
x y+  

10. buesa ls dkSu nks pj okys jSf[kd lehdj.k gSa \ 
Which one is a linear equation in two variables ? 

 (a) 2 5 0x + =  (b) 1x y+ =  (c) Y = 2 (d) 2x = 3 

11. fuEufyf[kr gyksa esa dkSu lehdj.k 2 6x y+ =  dk gy gS %& 
Which of the following is a solution of the equation 2 6x y+ =  

 (a) 2, 1x y= =  (b) 1, 2x y= =  (c) 2, 2x y= =  (d) 1, 1x y= =  

12. D;k jSf[kd lehdj.k 3y x= dk vkys[k ewy fcanq ls gksdj tk,¡xh % 
Will the graph of linear equation 3y x=  pass through origin ? 

 (a) gk¡ (Yes) (b) ugha (No.) (c) lwpuk vi;kZIr 
(Insufficient Information) 

(d) buesa ls dksbZ ugha  
(None of these) 

13. y- v{k dk lehdj.k gS% 
The equation of y-axis is  

 (a) 0x =  (b) 0y =  (c) x b=  (d) y b=  

14. ewy fcanq dk funsZ’kkad gS %  
The Co ordinate of origin point is : 

 (a) (0,0) (b) (1,0) (c) (0,1)  (d) (1,1)  

15. vkdf̀r esa fcUnq p dk funsZ’kkad gS %  
Infig. The coordinate of the point p is :       

 

 

 

 

 

                                           

 (a) (3,2) (b) (2,3) (c) (3,0) (d) (0,2)  

16. Þjs[kk,¡ lekarj gksrh gSa] ;fn os izfrPNsn ugha djrhß dk dFku fuEufyf[kr ds #i esa fn;k x;k gS %  
 ¼a½ ,d vfHkxg̀hr  ¼b½ ,d ifjHkk”kk  ¼c½ ,d vfHk/kkj.kk ¼d½ ,d miifÙk 
 “Lines are parallel if they do not intersect” is stated in the form of : 

 (a) an axiom  (b) a definition  (c) a postulats  (d) a proof  

17. ;fn fdlh f=Hkqt dk ,d dks.k vU; nks dks.kksa ds ;ksx ds cjkcj gksa rks og f=Hkqt gS ,d %  
 ¼a½ lef}ckgq f=Hkqt ¼b½vf/kddks.k f=Hkqt ¼c½ leckgq f=Hkqt ¼d½ ledks.k f=Hkqt 

 If one angle of a triangle is equal to the sum of the other two angles, then the triangle is : 

 (a) an isosceles 

triangle 

(b) an obtuse 

triangle 

(c) an equilateral 

triangle 

(d) a right 

triangle 
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18. vkdf̀r esa POQ ,d js[kk gS A x dk eku gS %  
 
 
 
 
 

 (a) 
0

20  (b) 
0

25  (c) 
0

30  (d) 
0

35  

 In figure, POQ is a line. The value of x is : 

 

 

 

 

 

 (a) 
0

20  (b) 
0

25  (c) 
0

30  (d) 
0

35  

 

 

 

19. 
 

vkdf̀r esa] ;fn OP     RS, ∠ OPQ = 
0

110 vkSj ∠ QRS = 
0

130  gS rks ∠ PQR cjkcj gS %  
 
 
 
 
 

 (a) 
0

40  (b) 
0

50  (c) 
0

60  (d) 
0

70  

 In figure, if OP     RS, ∠ OPQ = 
0

110 and ∠ QRS = 
0

130 , 

then ∠ PQR is equal to : 

 

 

 (a) 
0

40  (b) 
0

50  (c) 
0

60  (d) 
0

70  

20. fuEufyf[kr esa ls dkSu f=Hkqtksa dh lokZaxlerk dh ,d dlkSVh ugha gS \ 
 (a) SAS (b) ASA (c) SSA  (d) SSS 

 Which of the following is not a criterion for congruence of triangles ? 

 (a) SAS  (b) ASA  (c) SSA  (d) SSS 

21. ∆  PQR esaa] ;fn ∠ R> ∠ Q gS] rks 
 

 (a) QR> PR (b) PQ>PR (c) PQ<PR (d) QR<PR 

 In ∆ PQR, it ∠ R> ∠ Q, than  

 

 (a) QR> PR (b) PQ>PR (c) PQ<PR (d) QR<PR 

22. ∆ ABC esa] BC=AB vkSj ∠ B = 
080  gS] rc  ∠ A cjkcj gS% 

 (a) 080  (b) 040  (c) 050  (d) 0100  

 In ∆ ABC, BC=AB and ∠ B = 
080  Than  ∠ A  is equal to :  

 

 (a) 080  (b) 040  (c) 050  (d) 0100  
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23. ,d prqHkqZt ds rhu dks.k 075 ] 090  vkSj 075  gS A bldk pkSFkk dks.k gS %  
 

 (a) 
090  (b) 

095  (c) 
0105  (d)  

0120  

 Three angles of a quadrilateral are 
075 ] 090 and 075 . The fourth angle is : 

 

 (a) 
090  (b) 

095  (c) 
0105  (d) 

0120  
 

24. ,d leprqHkqZt dh Hkqtkvksa ds e/;&fcUnqvksa dks] ,d gh Øe esa] feykus ij cuus okyh vkof̀r gksrh gS %  
 (a) ,d leprqHkqZt  (b) ,d vk;r  (c) ,d oxZ  (d) dksbZ Hkh lekarj 

prqHkqZt 

 The figure obtained by joining the mid-points of the sides of a rhombus taken in order, is : 

 (a) a rhombus (b) a rectangle (c) a square  (d) any 

parallelogram

. 

25. ,d f=Hkqt  ABC dh Hkqtkvksa ds e/;&fcUnq fdlh Hkh ,d ‘kh”kZ dks pkSFkk fcanq ysdj ,d lekarj prqHkqZt cukrs gSa] ftldk 
{ks=Qy cjkcj gS %  

 
(a) 

1

2
 {ks0 (ABC) (b) 

1

3
{ks0 (ABC) (c) 

1

4
{ks0 (ABC)  

(d) {ks0 (ABC)  

 The mid-point of the sides of a triangle ABC  along with any of the vertices as the fourth point 

make a parallelogram of area equal to :  

 
(a) 

1

2
ar (ABC) (b) 

1

3
ar (ABC) (c) 

1

4
ar (ABC) 

(d) ar (ABC) 

26. nks lekarj prqHkqZt cjkcj vk/kkjksa ij vkSj ,d gh lekarj js[kkvksa ds chp fLFkr gS A muds {ks=Qyksa dk vuqikr gS %  
 (a) 1:2 (b) 1:1 (c) 2:1 (d) 3:1 

 Two parallelograms are on equal bases and between the same parallels. The ratio of their areas is : 

 (a) 1:2 (b) 1:1 (c)  2:1 (d) 3:1 

27. fdlh oÙ̀k dk AD ,d O;kl gS vkSj AB ,d thok gS A ;fn  AD=34cm, AB=30cm  gS] rks oÙ̀k ds dsUnz ls AB   
dh nwjh gS%  

 (a) 17 cm  (b) 15 cm  (c) 4 cm (d) 8 cm 

 AD is a diameter of a circle and AB is a chord. If AD = 34cm, AB=30cm, the distance of AB from 

the centre of the circle is : 

 (a) 17 cm (b) 15 cm (c) 4 cm (d) 8 cm 

28. ;fn AB=12 CM, BC=16CM  vkSj AB js[kk[kaM BC ij yEc gS] rks A, B vkSj C ls gksdj tkus okys oÙ̀k dh f=T;k gS% 
 (a) 6 cm (b) 8 cm (c) 10 cm (d) 12 cm 

 If AB = 12 cm, BC=16 cm and AB is perpendicular to BC, then the radins of the circle passing 

through the points A, B and C is : 

 

 (a) 6 cm (b) 8 cm (c) 10 cm (d) 12 cm 

29. iVjh vkSj ijdkj dh lgk;rk ls fuEufyf[kr dks.k dh jpuk djuk laHko ugha gS %  
 

 (a) 037.5  (b) 
040  (c) 

022.5  (d) 
067.5  

 With the help of a ruler and a compass it is not possible to construct an angle of : 

 

 (a) 037.5  (b) 040  (c) 
022.5  (d) 

067.5  
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30.  2 3 cm  Hkqtk okys leckgq f=Hkqt dk {ks=Qy gS %  
 The area of an equilateral triangle with side 2 3  cm is  

 

 (a) 5.196 cm
2
 (b) 0.866 cm

2
 (c) 3.496 cm

2
 (d) 1.732 cm

2 

 

31. ,d f=Hkqt dh Hkqtk,¡ 56cm, 60 cm vkSj 52 cm yEckbZ;ksa dh gSa A rc f=Hkqt dk {ks=Qy gS %  
 

 (a) 1322 cm
2
 (b) 1311cm

2
 (c) 1344 cm

2
 (d) 1392 cm

2
 

 The sides of a triangle are 56 cm, 60 cm and 52 cm long. Then the area of the triangle is :  

 

 (a) 1322 cm
2
 (b) 1311cm

2
 (c) 1344 cm

2
 (d) 1392 cm

2
 

(e)  

32. ;fn ,d xksys dh f=T;k 2 r  gS] rks mldk vk;ru gksxk%  
 

(a) 
34

3
rπ  

(b) 
34 rπ  

(c) 
38

3

rπ
 (d) 

332

3
rπ  

 The radins of a sphere is 2r, then its volume will be. 

 
(a) 34

3
rπ  

(b) 34 rπ  
(c) 

38

3

rπ
 (d) 

332

3
rπ  

33. ,d ?ku dk dqy i”̀Bh; {ks=Qy 96 cm
2 gS A /ku dk vk;ru gS %  

 The total surface area of a cube is 96 cm
2 

. The volume of the cube is : 

 (a) 8 cm
3
 (b) 512 cm

3
 (c) 64 cm

3
 (d) 27 cm

3
 

34. 10 m × 10m × 5m  foekvksa okys ,d dejs esa j[ks tk ldus okys yacs MaMs dh yEckbZ gS %  
 (a) 15 m (b) 16m (c) 10m  (d) 12m 

 The length of the longest pole that can be put in a room of dimensions 10 m × 10m × 5m  is : 

 (a) 15m (b) 16m (c) 10m (d)  12m 

35. ;fn ,d csyu dh f=T;k vk/kh ,d nh tk, vkSj Å¡pkbZ nqxquh dj nh tk, rks mldk vk;ru gksxk% 
 

 (a) ,d  (b) nqxquk  (c) vk/kk (d) pkj xquk 
(e)  

 In a cylinder, if radius is halved and height is doubled, the volume will be : 

 
 (a) One  (b) doubled (c) halved  (d) four times 

(e)  

36. oxZ 90&120 dk oxZ fpâ gS %  
 (a) 90 (b) 105 (c) 115 (d)120 

 The class mark of the class 90-120 is : 

 (a) 90 (b) 105 (c) 115 (d)120 

37. 5] 10] 15] 20] 25 vk¡dM+ks dk ek/; gS %  
 

 (a) 75 (b) 7.5 (c) 37.5 (d)buesa ls dksbZ ugha 
 The mean of datas 5, 10, 15, 20, 25 is : 

 

 (a) 75 (b) 7.5 (c) 37.5 (d) buesa ls dksbZ ugha 
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38. 25] 18] 20] 22] 16] 6] 17] 15] 12] 30] 32] 10] 19] 8] 11] 20 vk¡dM+ksa dk ifjlj gS %  
 

 (a) 10 (b) 15 (c) 18 (d)26 

 The range of the datas 25] 18] 20] 22] 16] 6] 17] 15] 12] 30] 32] 10] 19] 8] 11] 20  is: 

 

 (a) 10 (b) 15 (c) 18 (d)26 

 

39. ,d fØdsV eSp esa ,d efgyk cYysckt [ksyh xbZ 30 xsanksa esa 6 ckj pkSdk ekjrh gS A pkSdk u ekjs tkus dh izkfFkdrk gS% 
 

(a) 
5

4
 (b)

4

5
 (c) 

6

30
 (d)

30

6
 

 In a cricket match, a batswoman hits a boundary 6 times out of 30 balls she plays. Find the 

probability  that she did not hit a boundary: 

 
(a) 

5

4
 (b) 

4

5
 (c) 

6

30
 (d) 

30

6
 

40. ,d flDds dks 1000 ckj mNkyus ij fpr 455 ckj izkIr gksrk gS rks fpr dh izkfFkdrk gksxh %  
 (a)0.455 (b)455 (c)45.5 (d)1000 

 A coin is tossed 1000 times and the head obtainal 455 times, the probability will be : 

 (a) 0.455 (b)455 (c)45.5 (d)1000 
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Answer 

Mathematics 

Class-IX (Set-1) 

1. d 

2. a 

3. a 

4. d 

5. b 

6. c 

7. a 

8. a 

9. a 

10. b 

11. c 

12. a 

13. a 

14. a 

15. a 

16. b 

17. d 

18. a 

19. c 

20. c 

21. b 

22. c 

23. d 

24. b 

25. a 

26. b 

27. d 

28. c 

29. b 

30. a 

31. c 

32. a 

33. c 

34. a 

35. c 

36. b 

37. c 

38. d 

39. b 

40. a 
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